Ph¥oFI5

REERR

A10142 | BXB a1

o
SGPERDHEXR/IN K, =
O A10141M BB 2 &L | ICTA10312BA 22ty b L8, &
QETERD - T LT, =}
mEI—F A10142 H#HXFR 2 B ()
Y42 | B B | FOB | pm FEFIL b BRI M| A%
J-F ) (B) BEENE t C ExXEX D H P (B
0014 15A A 21.7 1.2 25 | M 6X20 | 27 66| W% 180
0029 20A % 27.2 1.2 125 | M 6X20 | 27 68| W% 160
0033 25A 1 34.0 1.2 25 | M 6X20 | 27 72| W% 180
0048 32A 1% 42.7 20| 25 | M 6Xx20 | 27 77| W% 130
0052 40A 1% 48.6 20| 25 | M 6X20 | 27 80| W% 120
0067 50A 2 60.5 20| 25 | M 6X20 | 27 86| W% 80
0071 65A 2 76.3 26| 32 | M 8x25 | 32 9| W% 70
0086 80A 3 89.1 26| 32 | M 8x25 | 32 | 105| W% 50
0103 90A 3% 101.6 26| 32 | M 8x25 | 32 | 111 | W% 50
0118 100A 4 114.3 26| 32 | M 8x25 | 32 | 118 | W% 50
0122 125A 5) 139.8 26 | 38 | M10X30 | 32 | 136 | WY 32
0137 150A 6 165.2 3.2 | 50 | M12x45 | 40 | 164 | W 15
0141 200A 8 216.3 3.2 | 50 | M12x45 | 40 | 190 | W 10
0156 250A 10 267.4 45| 50 | M12x45 | 55 | 243 | W% 18
0175 300A 12 318.5 45| 50 | M12x45 | 55 | 274 | W% 10
0180 350A 14 355.6 6.0 | 50 | M16X50 | 60 | 294 | W?%
0194 400A 16 406.4 6.0 | 50 | M16X50 | 65 | 319 | W%

A10201 | A7 AR B 2 14

27 L ZiE (EAE) AOERR/IN K,
@ [A102004B:XB 2 & LI ICTA10316 R T mEL &ty b LR,
@SUS 3048,

2EI—F A10201 X7 HERBEH B4 ()

FAX | & B | HOE | gamms R AL AR
2k | w | @ EEEHE U C Peige [P M T (@@
0017 15A V2 21.7 1.0 25 | M 6X20 | 26 | 64| W% | 220
0021 20A % 27.2 1.0 25 | M6x20 | 26 | 67| W% | 200
0036 25A 1 34.0 1.0 25 | M6x20 | 26 | 71| W% | 230
0055 32A 1% 42.7 12125 | M6x20 | 26 | 75| W% | 170
0060 40A 1% 48.6 1.2 25 | M6x20 | 26 | 78| W% | 150
0074 50A 2 60.5 1.2 25 | M 6X20 | 26 | 84| W% | 100
0089 65A 2% 76.3 1532 | M8x25 | 36 | 101 | W% 75
0093 80A 3 89.1 1.5 32 | M 8%x25 | 36 | 108 | W% 65
0337 90A 3% 101.6 15132 | M8x25 | 36 | 114| W% 50
0106 100A 4 114.3 1532 | M8x25 | 36 | 120 | W% 50
0125 125A 5 139.8 25| 38 | M10Xx35 | 36 | 140| W 32
0130 150A 6 165.2 3.0 | 50 | M12x45 | 40 | 156 | W2 15
0144 200A 8 216.3 3.0 | 50 | M12Xx45 | 40 | 181 | W 10
0159 250A 10 267.4 4.0 | 50 | M12x45 | 55 | 246 | W% 10
0163 300A 12 318.5 4.0 | 50 | M12Xx45 | 55 | 271 | W% 10

BEMICLVEEERD
REZBELHIETD

@b
BhIEEEAT




